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7,190
7,190
1,800
900
270
630

Jl
Al
Il
Al

17,000
17,000

34,000

Il
Al

- SRA(3) - HIRAEY

- o

- ESS

£A

1,180,000& *14]

H1(35,937
1,538,312,000& * 14!

53,520,000 & x 14!

B1(2,65321)
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o

LYESAMG E2
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0

=
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O
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i 55

m=
o o
E| KD
7ol oFJ
_A_s ol

&
47,760,000 14
520,000 *14]
14,380,000 & x 14!

ZA 4B 7

RD
o)

KD

—+PV 1

34,000,000 *14]

2

HI(

=
=)

Bl (161

9,600,000 %14

ol

Ho
ol

-

3

EA

pS|
=

s

g
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HV 0IES A O

9,600
4,800

Il

2A)




2A:
X XH -
o e

=aak

Oy Y

S
ST
T2 AT

SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,440
Al 3,360
+PV DIESX GLESAIY Holg F&HI(2
,31024) 191,000,000 *14] 191,000
) 95,500
Al 95,500
~S01 GIYHEAIS oF THI(7,08021)
63,444,000 * 14| 63,444
7l 31,722
=S 11,196
Al 20,526
-g0 HYESAIY Hol@ EEHI(31,6422)
988,408,000 x14] 988,408
Il 494,204
Al 494,204
BEE FAI2E OILALS (322)
5,356,000 *14] 5,3%
Jl 2,678
= 803
Al 1,875
Al S=0F HIEES At 185,322 161,577 N\6,255
101 @1A4H| 27,891 28,460 2569
04 JIZtN2 2N S 2+ 27,891 28,460 A569
OUYES SXA2IAF 2121H| 10,500
-2 &2/ AL Q1 24H] 350,000 «1H+30 10,500
OQUS AL} HYES 22X 12| 15,667
-Jl=s 76,9603 x7E 22 11,852
=5=g 76,9603 x7 H+4 2,155
-Xtrg 76,9602 x7 Hx1 539
—2HAH| 2,000 x7E 22 308
—HEUSENSE 116, 10027+ 13 813
O4lHEE JI2RE3 1,724
=UALTEEZ 15,359,000 *3.545% 545
- RAEER 545,000 %12.27% 67
-=0H=2E= 15,359,000 4. 5% 692
-UEEES 15,359,000& *1.75% 269
“MHEE = 15,359, 0002 *0.982% 151
201 fer=3| 14,297 16,847 A2,550
01 AtR2t2|HI 8,618 8,618 0
Oget=ZH] 8,618
-HLEE 82 ZAH M
6503 *3,000H 1,950
C|2HJI= XMelHlES
2,000& 10kg*102] 200




SH: AUBD
M HUEW
Cel: 2XEAALS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-EES MdE M 402 *20,0000H 800
-HLES L2 MA 402 *20,0000H 800
-IERUL HYES 224 Sl
8,0002 x4 +302 *23] 1,920
-HEES 243t ME
50, 000& *20H 1,000
-HZES dioldEele S
237,000 *43] 948
HYEE NSEE 7
100,000 2! *424 400
-0IZgE S ZHl +cld 200,000 35 600
02 S5=2g4l 5,679 8,229 2,550
OnzdEsd(dNE)3E 0182
12,0003+ 122 144
OlYES e &8 RERs
4002 6,000 2,400
O2ZQ! SIS At Hiat HAZSS
3,135,000 *14] 3,135
301 LEtE NS 17,000 29,000 212,000
14 IIEt2 83 17,000 29,000 212,000
OHgES Olaets XXl
5,000,000& *14] 5,000
ONZES RAE=2T/2 2LIHYE EAR
el 50,0002 x6Z *102 43 12,000
307 lztol & 9%, 134 87,270 8,864
01 22X &I 96,134 87,270 8,864
OBel2tg Al 5,184
BE2Y WA A0 FR)
2,880 *200& 576
BE2HE MA 1TMOIM(RE)
5,040 +700H 3,528
BE2tY WAl 11HDIRH(RE)
2,880& 200 576
BE2Y WA 1AM (RR)
5,040 %100 504
OIS FAUL} Al 83,000
-QIERA WA(FRE)
11,0002 »7,000& 77,000
QIZ2OIT} HAI(DR)
11,0002 *1,000&H 11,000
OugESE I 7 2,950
2z ASa 4,50024+100% 450
-Z=ALD| 15,0003 +508+ A 750
-Ng e 3,500& #5002 1,750
FHAANE USFAUXL HLESAE 36,639 36,639 0

H

10,990




FA ABSL
M HUEW
Cel: 2XEAALS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 25,649
307 gl2tol & 36,639 36,639 0
=S 10,990
Al 25,649
01 22 +ZH| 36,639 36,639 0
OFAAHES AERAX KL SAA(3,869H)
36,639,000 * 14| 36,639
< 10,990
Al 25,649
ZEHHI0IH A HIZEES ALY 231,462 212,785 18,677
= 69,439
Al 162,023
307 @20l & 231,462 212,785 18,677
=S 69,439
Al 162,023
01 22 +=H| 231,462 212,785 18,677
OREHHIOIIA IBEE Bol2 HBH|(923
) 231,462,000 x14] 231,462
< 69,439
Al 162,023
A oS SA 114,000 114,000 0
= 34,200
Al 79,800
307 el2to| & 114,000 114,000 0
= 34,200
Al 79,800
01 22 +=H] 114,000 114,000 0
ORI HLES AFH(1,1402)
114,000,000 * 14! 114,000
[ 34,200
Al 79,800
2g0i=sA LB AtH2SH| 1,250 1,250 0
Jl 1,000
Al 250
201 er23| 1,250 1,250 0
Jl 1,000
Al 250
01 AtR2t2lHl 1,250 1,250 0
Oflzgd+=sAt ALHE AHE2EH
1,250,0002 * 10K 2 1,250
Jl 1,000
Al 250
destrasd il SF0I21ZFEN X 7,207 7,443 1236
J| 5,765




SH: AUBD
Zu: AAST
Cel: 2XEAALS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 1,442
308 AtXIEHMSOIE 7,207 7,443 A236
Il 5,765
Al 1,442
11 S 2S0HE Y EAS A 7,207 7,443 N236
OLteMI0ICt 230+ AF BEHI(218F)
7,207,000 * 14 7,207
Il 5,765
Al 1,442
IR0t LEH FESAHl N 2,581 2,522 59
Il 2,065
Al 516
307 @20l & 2,581 2,522 59
Jl 2,065
Al 516
01 22 +=H| 2,581 2,522 59
OSFOILEE0N HLHAHI X2 (36H)
2,581,000& *14] 2,581
7l 2,065
Al 516
HE IR 1,974 2,374 2400
Jl 987
Al 987
307 el2to| & 1,974 2,374 2400
) 987
Al 987
01 22 +=H] 1,974 2,374 A400
O4&lM0F HE DA AHEH|
1,974,000& x14] 1,974
7l 987
Al 987
SHEUAIOIA S A & 2ot 45,968 32,004 13,914
Jl 22,984
Al 22,984
307 elzto| & 45,968 32,054 13,914
Jl 22,984
Al 22,984
01 22 +=H| 45,968 32,054 13,914
O SHAIOI A A & EH0ot2te] (50E)
45,968,000 x14] 45,968
Jl 22,984
Al 22,984
Ol=0t & H&&H0l&0t 2 2HIXA 35,826 48,346 N 12,520
Jl 17,913




FA ABSL
M HUEW
Cel: 2XEAALS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 17,913
307 gl2tol & 35,826 48,346 12,520
Il 17,913
Al 17,913
01 22 +ZH| 35,826 48,346 12,520
OOl=0t & dd40laot 2j=H| XA (56E)
35,826,000 * 14| 35,826
Jl 17,913
Al 17,913
XIS TS E S MBI AS AR (AR A MO 222X 404,129 404,129 0
) (HEA)
= 319,262
Al 84,867
308 AtXIEHMSOIE 404,129 404,129 0
== 319,262
Al 84,867
11 SI[2S0He 4 EAS A 404,129 404,129 0
O&t2AIMOF H222 KR (MBI EHEER
FE=)3438 404,129,000 x14] 404,129
S 319,262
Al 84,867
A AIMOF A2 22| X (FIHKI-) 88,920 88,920 0
= 26,676
Al 62,244
301 EetE2 NS 88,920 88,920 0
s 26,676
Al 62,244
01 Al E2E AL S(FRDEXMA) 88,920 88,920 0
O{2AMOL A2 X (2L REZ FIt
Xl2)360 88,920,000 * 14| 88,920
= 26,676
Al 62,244
SSM=XCH NZAY 48,510 48,510 0
= 19,404
Al 29,106
307 gl2to| & 48,510 48,510 0
=S 19,404
Al 29,106
01 22 +ZH| 48,510 48,510 0
OZ33dt=xeld X
1,078,000 ~45& 48,510
< 19,404
Al 29,106
SME &2 M= X MHIA =X 239,274 198,762 40,512




SH: AUBD
Zu: AAST
Cel: 2XEAALS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 71,782
Al 167,492
308 XtXIEMSO0IH 239,274 198,762 40,512
= 71,782
Al 167,492
1 SIS0t EAS A 239,274 198,762 40,512
OstHE EE d=Xel MHIA =K
633,000 *378H 239,274
=S 71,782
Al 167,492
DUEHE 2E 16,702 16,874 ATT2
101 e124d| 14,952 0 14,952
M ORNZZ2NSE S 14,952 0 14,952
OR2XEAAY 21 244| 13,503
-Jl== 76,9603 x 12 +1562 12,006
-2 S0l 200,000 x1H*13] 200
~HEYsEME 116, 1003 1 +63 697
-ZHLH04H| 100,000« 1 +6E 600
OAMzlEg & JI2RE= 1,449
-=ASTEES 12,909, 0002 *3.545% 458
“LRIEIIRAYTER 458,000 %12.27% 57
=HHSEEE 12,909,000 4. 5% 581
-lIE2E= 12,909,000 *1.75% 226
“MHEEE 12,909,000 *0.982% 127
201 fer23| 1,050 1,074 N4
01 AtR2t2|HI 1,050 1,074 avzi
O+ 1,080
DRPAA SHBE 79
200,000 *32] 600
-ZgH B P 150, 0002 *3H 450
405 AHatE = 700 800 A100
01 MMM ESFSHI 700 800 A100
ORIEHA HIS 78 700
-IHEIs 2 300,000 *1H 300
-y 7Y 200,000 x2H 400
KA SEHLSIAIL (2R EH) 29,000 29,000 0
J| 14,500
s 2,900
Al 11,600
201 =3 5,000 5,000 0
7l 2,500
= 500
Al 2,000




SM: ALEXY
Zu: AAST
&l: SAEHA EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
01 AtR2telt] 5,000 5,000 0
OYum S22 2YSE DY(24A 5)
5,000,000& * 14! 5,000
| 2,500
= 500
Al 2,000
307 212+01 A 24,000 24,000 0
| 12,000
= 2,400
Al 9,600
01 242 =l 24,000 24,000 0
OYLE GLtH 2 6,250 *3002 1,875
| 937
& 188
Al 750
oYt 22H 72 8,850 *2,5002 22,125
| 11,063
& 2,212
Al 8,850
SREAHAIY Bx01=H| 10,090 10,090 0
| 5,045
Al 5,045
101 2124 d| 10,090 10,090 0
| 5,045
Al 5,045
M IIZINZ2 2SS ES 10,090 10,090 0
ORXEAHAIY Bx0IH| (1K) 9,085
A== 2,010,580 x 19 43 8,043
| 4,022
Al 4,021
~MEZIE MY 150,480 18«42 602
| 301
Al 301
-2t 04 bl 20,0003 x 122 440
J| 220
Al 220
OAMNZEEZ J|22E2 1,005
—=S0AHAEEE 8,984,000& *3.495% 314
J| 157
Al 157
LoD QYEEE 3140002 *12.27% 39
J| 19
Al 2




FA ABSL
M HUEW
Cel: 2XEAALS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-=0HsEE= 8,984,000 4. 5% 405
Jl 202
Al 203
-LIERER 8,984,000& *1.75% 158
Il 79
Al 79
“MHEEE 8,984,000 *0.982% 89
2l 45
Al 44
HEEZDAE2H+8 MA 1,207 1,429 NP2
Il 603
< 181
Al 423
308 XXM SOIA 1,207 1,429 NP2
Il 603
== 181
Al 423
11 S [2S0 e YA AS A 1,207 1,429 NP2
OHZESNEASFN (AL LHISH
FIES) 1,207,000 14| 1,207
Il 603
== 181
Al 423
LSS Al=Hl X2 (HEAY) 255,000 255,000 0
= 191,250
Al 63,750
307 elztol & 255,000 255,000 0
= 191,250
Al 63,750
01 22X+ &H| 255,000 255,000 0
LSS Al=Hl XIR(327Y)
255,000,000 *14] 255,000
s 191,250
Al 63,750
HARE Al=Hl XIFCHAI = 33,000 27,500 5,500
307 elztol & 33,000 27,500 5,500
01 22X 2| 33,000 27,500 5,500
OuteIzs AlSHl URAHAK S0
1,100,000& +30& 33,000
HdE HYRR Al KA2AY 24,700 24,700 0
= 7,410
Al 17,290
307 @120l & 24,700 24,700 0
== 7,410




FA ABSL
M HUEW
Cel: 2XEAALS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 17,290
NIEEEEET] 24,700 24,700 0
OFLE Use At X2
1,900,0002 13 24,700
== 7,410
Al 17,290
e dE Bl X2 22,200 22,200 0
307 212t01™ 22,200 22,200
01 22X+ &H| 22,200 22,200
odgy At A&H X
300,000 +74&H 22,200
et HXls KEAY 17,640 17,640 0
=S 7,560
Al 10,080
307 @120l & 17,640 17,640 0
< 7,560
Al 10,080
01 22X 2| 17,640 17,640 0
Osgtg Xz X 1,260,000  14¥ 17,640
= 7,560
Al 10,080
CIMEESIEM OtdE Jtesog ZHXEH 13,200 0 13,200
= 3,960
Al 9,240
301 EetE2 N = 13,200 0 13,200
s 3,960
Al 9,240
14 0Bt 2a s 13,200 0 13,200
O A =IEN HEE I8 2H
A& 80,0003 »1654 13,200
& 3,960
Al 9,240
FAEME JaE4 ol=d| A& 8,200 8,200 0
) 4,100
< 1,230
Al 2,870
308 XXM SOIA 8,200 8,200 0
Jl 4,100
== 1,230
Al 2,870
11 S [2S0 e 4 EAS A 8,200 8,200 0
OFAEME JAUSMOZHIXIA(MSEE
HZE A=) 8,200,000 * 14 8,200
Il 4,100




SH: AUBD
B A=A
&2l EXE AN (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,230
Al 2,870
AE(0H) SRR HLBE X2 16,510 16,510 0
= 4,953
Al 11,557
307 gl2to| & 16,510 16,510 0
=S 4,953
Al 11,557
01 22 7=H| 16,510 16,510 0
OdlE(ob) 22 AZF X2
130,000&* 127 16,510
< 4,953
Al 11,557
0" HAR o ZHIXH 50,000 54,000 24,000
Jl 25,000
< 7,500
Al 17,500
307 glztol & 50,000 54,000 24,000
Il 25,000
== 7,500
Al 17,500
01 22X 2| 50,000 54,000 24,000
OL%d LuE 2ZHIXIE
50,000,000& * 14| 50,000
Jl 25,000
s 7,500
Al 17,500
& d2 Ss2H N3 5,000 5,000 0
307 elztol & 5,000 5,000
01 22X TS| 5,000 5,000
OB LB ZeraH X
1,000,000 +6% 5,000
DELHY HAl oL ES al4H 20K 9,067 9,067 0
= 9,067
307 glztol & 9,067 9,067 0
= 9,067
01 22 +=H| 9,067 9,067 0
OZZLHY HYES Bl 342 S10j
9,067,000 *14] 9,067
= 9,067
IZLHI HEESAIE SRAE 231,831 141,874 89,957
101 21AH| 141,668 141,874 A206
04 JIZtN2Z2XNSE+ 141,668 141,874 A206




SH: AUBD
Zu: AAST
ol BRAEHAI EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OJI2HHIZ2 2 ol AH] 5H(22LH9 olgd
T H2XA Atg) 127,519
A== 76,9602 x5 EH 250 96,200
- SH| 50,0003 x5 =123 3,000
—2+HAlY| 2,000& *5H x250 2,500
R+ 50,0003 x5 12& 3,000
= EH| 200, 0002552 x23] 2,000
MEDBESY
116, 100&+5F 122 6,966
= ESESIEE 13,853,000 & * 14! 13,853
OAtgl 2gg D& 293 14,149
-2HAEES 126, 176,000 x3.545% 4,473
-=0dz 126,176,000 *4. 5% 5,678
Lo QABEE
4,473,000&%12.27% 549
-1E88s 126,176,000 *1.75% 2,209
“~IHEE = 126, 176,000 0. 982% 1,240
201 B2 AY| 20,963 20,963
01 A=R2teld| 19,398 19,398
OZ=ZLH9 |IES 2012 i JM&
70,0002 #7094 2~ 4,900
ODZLH9 NILEHE eHiE ME
50&*10,000&*35 32! 4,500
OZZLHY HIYES HOIZ XMelHlS
2,000 x240kg* 1004 & 4,800
OZZLHNLE S AMRES 5 7
200,000& = 1000 & 2,000
OYEES A =Xt tHols
50,0003 *3A| 2t+5 2 *33] 2,250
OugEs Zely e3¢
237,000& *43| 948
02 S=29| 1,565 1,565
OZ2Z2LH9 DIEBNH B fERF
2,530 500 1,265
OdAME OlBZ 30,0002 %1001 300
301 LPBNZ 66,300 66,300
14 J|EIE A= 66,300 66,300
OYEES A Q1A 66,300
28 350,000 x3F #2322 46,200
-4 50,0002 3 25| x22 6,600
M2 100,000 x3H +23|x 22 13,200
-uEssg 50,0003 *3H *23| 300
307 212+01™ 2,900 2,900
01 224+ =l 2,900 2,900




FA ABSL
M HUEW
Cel: 2XEAALS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
022z S 22428 2
2,500, 00024 14! 2,500
Ogslg ¥587 2
1,000 *200H*22] 400
IZLHI MZES A&l 1,089,688 3,768,280 A\2,678,592
= 544,844
= 163,453
Al 381,391
307 @I2t0| & 1,089,688 3,768,280 N\2,678,592
= 544,844
= 163,453
Al 381,391
01 22X +&H| 1,089,688 3,768,280 A\2,678,592
OZZLHI IYES AIHI(55,568%)
1,089,688,000& * 14 1,089,683
= 544,844
= 163,453
Al 381,391
AH2LIH(AZ ST 918,641 884,814 33,827
7l 273,673
= 45,699
Al 599,269
el 2E 754,073 731,334 22,739
Il 273,673
= 45,699
Al 434,701
KISALS] SERALSTA (B HEIRSAI IS L) 32,231 30,767 1,464
) 15,515
= 3,103
Al 13,613
101 @124H| 32,231 30,767 1,464
Il 15,515
[ 3,103
Al 13,613
03 SR (RIHA) 222+ 32,231 30,767 1,464
OAULEHEINE ALY 22X E= 32,231
~ASHENN LAY Q1Y
2,217,000& «1E« 123 26,604
Jl 13,302
= 2,660
Al 10,642
AN EAE 224 EAS HE
88,6902 *30 2,661
Jl 1,330




SM: ALEXY
S HY2IAH|(AHLSE
chol: ol (19 @)
A - B G(3H) - NRAY - HES ol ke G o HlmS2
= 266
Al 1,065
-BEZFOHI 2,207,000 *23| *40% 1,766
| 883
= 177
Al 706
-8 100,000 123 +14 1,200
XISAIE B4 AT AMHIA(SHSE|H2Y) 65,680 62,540 3,140
| 31,840
& 6,368
Al 27,472
101 eI t| 65,680 62,540 3,140
| 31,840
= 6,368
Al 27,472
03 SR (RIAHY) 22 E> 65,680 62,540 3,140
O3¢EcILAE 221 B+ 65,680
—=HE2IEAY 21RY
26,604,000& x2H 53,208
J| 26,604
& 5,321
Al 21,283
SHAEA EAZ HE
2,6060,700& 24 5,322
| 2,661
& 532
Al 2,129
-tiders gaz Xis
1,617,850 *1H 1,618
| 809
& 162
Al 647
-“HESOHI 1,765,600 *2H 3,632
| 1,766
& 353
Al 1,413
TSR =y 1,000,000 *2H 2,000
KGALS] SEAHLSTAMS (L2 HAIZ IR 419,672 408,953 10,719
| 150,110
& 30,022
Al 239,540
101 2124t 419,672 408,953 10,719
| 150,110
& 30,022




=M AUB
M HZYRAZH(AZSI 1)
chol: ol (19 @)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
Al 239,540
03 SRA(RIH )22 HE S 419,672 408,953 10,719
OgerEg0I oz 419,672
2w oz
2,217,000 x13E«12& 345,852
7l 136,009
=S 27,194
Al 182,649
-Hg(1g) 100,000 x1&* 122 1,200
Il 473
= 9%
Al 632
-ElX= JE 2,620,500 *13E 12| 34,067
7l 13,628
S 2,733
Al 17,706
-EEF0HI 1,765,600« 13 12 22,953
-REE 100,000 x13E «12& 15,600
AL ZA|AL(ZHTEUS AL QIFY) 37,9% 36,180 1,816
Jl 18,398
Al 19,598
101 @12A4H| 37,99 36,180 1,816
) 18,398
Al 19,598
03 SRA(RIH )22+ 37,99 36,180 1,816
OBAA AHMLABAL 012
36,796,000& 1 36,796
Jl 18,398
Al 18,398
OFESEgS) 100,000 x 12 * 122 1,200
KNSAS| SERALYS TS (SLEHAAH IR Y) 64,462 61,133 3,329
) 31,030
= 6,206
Al 27,226
101 @124H| 64,462 61,133 3,329
Jl 31,030
[ 6,206
Al 27,226
03 SR (RINHA) 222+ 64,462 61,133 3,329
OZLSHAMAZZRE 64,462
~HUSHAAY 2Y
26,604, 0003 »2H 53,208
) 26,687
& 5,338
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